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QUESTION 1

You have a server that runs a Server Core installation of Windows Server 2012 R2. 

You need to change the DNS server used by IPv6. 

What should you do? 

A. From Sconfig, configure the Network Settings. 

B. Run the sc.exe command and specify the config parameter. 

C. From Windows PowerShell, run the Set-NetIpv6Protocol cmdlet. 

D. From Windows PowerShell, run the Set-DnsClientServerAddress cmdlet. 

Correct Answer: D 

The Set-DnsClientServerAddresscmdlet sets one or more IP addresses for DNS servers associated with an interface.
This cmdlet statically adds DNS server addresses to the interface. If this cmdlet is used to add DNS servers to the 

interface, then the DNS servers will override any DHCP configuration for that interface. 

PS C:\> Set-DnsClientServerAddress -InterfaceIndex 12 -ServerAddresses "10.0.0.1","10.0.0.2") 

References: 

http://technet.microsoft.com/en-us/library/jj592692.aspx 

http://technet.microsoft.com/en-us/library/jj590768.aspx 

 

QUESTION 2

You have a server that runs Windows Server 2012 R2. The server contains the disks configured as shown in the
following table. 

You need to create a volume that can store up to 3 TB of user files. The solution must ensure that the user files are
available if one of the disks in the volume fails. What should you create? 

A. a mirrored volume on Disk 1 and Disk 4 

B. a mirrored volume on Disk 2 and Disk 3 
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C. a RAID-5 volume on Disk 1, Disk 2, and Disk 3 

D. a spanned volume on Disk 0 and Disk 4 

Correct Answer: B 

 

QUESTION 3

Your network contains an Active Directory domain named contoso.com. All client computers run Windows 8. An
administrator creates an application control policy and links the policy to an organizational unit (OU) named OU1. The
application 

control policy contains several deny rules. The deny rules apply to the Everyone group. You need to prevent users from
running the denied application. 

What should you configure? To answer, select the appropriate object in the answer area. 

Hot Area: 
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Correct Answer: 
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To enable the Enforce rules enforcement setting by using the Local Security Policy snap-in 

1. Click Start, type secpol.msc in the Search programs and files box, and then press ENTER. 

2. If the User Account Control dialog box appears, confirm that the action it displays is what you want, and then click
Yes. 

3. In the console tree, double-click Application Control Policies, right-click AppLocker, and then click Properties. 

4. On the Enforcement tab, select the Configured check box for the rule collection that you want to enforce, and then
verify that Enforce rules is selected in the list for that rule collection. 

5. Repeat step 4 to configure the enforcement setting to Enforce rules for additional rule collections. 
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6. Click OK. 

You should apply an application control policy for executable rules. When AppLocker policies from various GPOs are
merged, both the rules and the enforcement modes are merged. The most similar Group Policy setting is used for the 

enforcement mode, and all rules from linked GPOs are applied. 

References: 

Exam Ref 70-410: Installing and Configuring Windows Server 2012 R2, Chapter 6: Create and Manage Group Policy,
Objective 6.2: Local Users and Groups, p. 329. 

http://technet.microsoft.com/en-us/library/dd759115.aspx 

 

QUESTION 4

Your network contains two subnets. The subnets are configured as shown in the following table. 

You have a server named Server1 that runs Windows Server 2012 R2. Server1 is connected to LAN1. You run the route
print command as shown in the exhibit. (Click the Exhibit button.) 
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You need to ensure that Server1 can communicate with the client computers on LAN2. What should you do? 

A. Change the default gateway address. 

B. Set the state of the Microsoft ISATAP Adapter #2 interface to disable. 

C. Change the metric of the 10.10.1.0 route. 

D. Set the state of the Teredo interface to disable. 

Correct Answer: A 

The exhibit shows the default gateway address to be that of LAN1. This should be changed to the LAN2 gateway
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address to allow client computers access on LAN2. 

In general, the first and last addresses in a subnet are used as the network identifier and broadcast address,
respectively. All other addresses in the subnet can be assigned to hosts on that subnet. For example, IP addresses of
networks with 

subnet masks of at least 24 bits ending in .0 or .255 can never be assigned to hosts. Such "last" addresses of a subnet
are considered "broadcast" addresses and all hosts on the corresponding subnet will respond to it. Theoretically, there 

could be situations where you can assign an address ending in .0: for example, if you have a subnet like
192.168.0.0/255.255.0.0, you are allowed to assign a host the address 192.168.1.0. It could create confusion though, so
it\\'s not a very 

common practice. 

Example10.6.43.0 with subnet 255.255.252.0 (22 bit subnet mask) means subnet ID 10.6.40.0, a host address range
from 10.6.40.1 to 10.6.43.254 and a broadcast address10.6.43.255. So in theory, your example 10.6.43.0 would be
allowed 

as a valid host address. The default gateway address should not end in .0 with the /24 address. 

References: 

Training Guide: Installing and Configuring Windows Server 2012 R2, Chapter 4: Deploying domain controllers, Lesson
4: Configuring IPv6/IPv4 Interoperability, p. 254-256 

 

QUESTION 5

Note: This question is part of a series of questions that use the same or similar answer choices. An answer choice may
be correct for more than one question in the series. Each question is independent of the other questions in this series.
Information and details provided in a question apply only to that question. 

Your network contains a server named Server1 that runs Windows Server 2012 R2. Server1 has the Hyper-V server
role installed. 

Server1 hosts four virtual machines named VM1, VM2, VM3, and VM4. 

Server1 is configured as shown in the following table. 

VM3 is used to test applications. 
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You need to prevent VM3 from synchronizing its clock to Server1. 

What should you configure? 

A. NUMA topology 

B. Resource control 

C. Resource metering 

D. Virtual Machine Chimney 

E. The VLAN ID 

F. Processor Compatibility 

G. The startup order 

H. Automatic Start Action 

I. Integration Services 

J. Port mirroring 

K. Single-root I/O visualization 

Correct Answer: I 

Integration Services settings on virtual machines includes services such as operating system shutdown, time
synchronization, data exchange, Heart beat, and Backup (volume snapshot services. Thus you should disable the time
synchronization using Integration Services. 

References: http://blogs.technet.com/b/virtualization/archive/2008/08/29/backing-up-hyper-v-virtual-machines.aspx
Exam Ref 70-410, Installing and Configuring Windows Server 2012 R2, Chapter 3: Configure Hyper-V, Objective 3.1:
Create and Configure virtual machine settings, p. 144 
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